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> Hg: 119.04cm

(A7 o] 7hm)= (e o] 20 95
(9%x2x3.14)x2+3%x2
= 56.52% 2+ 6 = 119.04( cm)
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(Rl £9)

= (7I2) + (£°]) + (I&) + (&°])

=(7}2)+(7FR)+10 = 47.68

(7I2)+(7t2)= 37.68

(7F2)= 18.84(cm)
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(BHol)= (3 EH9] Wol)x2+ (FHel)
(§F ¥H o] Yol)=5x 5 x 3.14 = 78.5(cm?)
(F9o])=10x3.14 x 7 = 219.8( cm?)
(BHol)=78.5x 2+ 219.8 = 376.8( cm?)




11.

3 & 255 AF2 IAA AL o] st 48 & 5 e A2
ol AJAY7?
1 3 7
1= 0.8 2412 43+1-
@ 2 @ ) 5 G, 9
@ 5.6+3= @23+15

. 7 7 PR
® 4.371§ of| A 7= 0.7

oo Fekt e & 4 sy







13. thg 5 Ao A Al T 1AL,

4 1
8- —-3.1%x =
© 5 3

D 1.9 @ 8.9 @ 9.9 @ 9%

2
©9§

4 1 1 1
2 _31)x:=(88-31)x>=57x<
@(85 3)><3 (88-31)x 3 =57x 3
57 1 19
= — —:—:1'
0%37 10" 1
4 1 4 31 1
@85—31X§—85—EX§

44 31 264 31 233
5 30 30 30 30
23

= 7
30

23
e, O+ © = 1.9+ 755
_ 57T, 233200 g2
T30 30 30 3




d

it

14, 977h4] om 9 9] WAFE Lol 2 am Y72

12 3 121
TS
@ 57 o ® 57 ¢

4 94 100 1 120
44— =314+-2=—X — X — = —
573 5 %314 %5~ 157

cm)




15.

iR

£ thodt 2e FAoR B o, U] WA

2 AU

.

@36 7R

O 2170 @ 2871 3 327

2 B RE

® 407

B

139

1Z:
2=
S

4=

BAUE A4S B Y

1x3=3("H)
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(9% 97159 #)
=5x5x3.14x 2= 157(cm?)
(LEZE H7]59] F)

= 3x3%3.14%5 = 141.3(cm?)
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157 — 141.3 = 15.7(cm?)
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2 Arz1eg o] Ee| o] Aol & FoHA L.
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5x5x314x[ |=628, [ |=8(cm)

whebA ALY O] 99 dol=

(10X 3.14 + 8) x 2 = 39.4 x 2 = 78.8(cm) YYr}.
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B WA 5L [ Jom o 5Hd
Dx2x3.14x%: 14 x 3.14

[ ]x3.14 = 43.96
|:| = 14(cm)
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(B4lo]) =14 x 14 x 3.14 x > +7x7x3.14

— 307.72 + 153.86 = 461.58( cm?)
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(19 AR 5)= 80 x £ — 50(%)
32

(2% AHA 47)= 80 x 0 64()

(50 + 64) — 80 = 34(™8)




